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ECE 300
Spring Semester, 2005
HW Set #8
Due: March 29, 2005 Name ZN € <
wlg AM PM “ " Print(last, first)

Use Engineering Paper. Work only on one side of the paper. Use this sheet as your
cover sheet, placed on top of your work and stapled in the top left-hand corner. Number
the problems at the top of the page, in the center of the sheet. Do neat work. Underline
your answers. Show how you got your equations. Be sure to show how you got your
answers. Each problem counts 5 points.

8.6 () (0D =0V, v (0H)=0V

® 220D oy Oy
dt 4  (CR)
v.R
(€) v (0)=0V, Vp{®)= (RE)

\

8.8 i(t) = 4te™ A

8.13 R=120 ohms

817 v(t) =[64.53¢>% - 4,641 V

8.19 v(t) = 24sin(0.5¢) V

823 C=40mF .

8.25 vo(t) = e [24c0s(1.9841)+ 3.024sin(1.9845)] V

8.26 i(t)=[2+2e'sin(2t)+] A

8.41 i(t) = ¢2[0.7275sin(4.583t)] A

849 i)={3+[e3+60]} A

The following is a good web site to see how other students (at Univ. of North Florida
in Jacksonville, FL) have been working with the MSF430 project. See Summer 2003

in particular.

http://www.unf edu/~gmerckel/

Check the following site for free samples of MSP430F449 chip (up to 3).
Please order 3 to replace the ones in the kit. Thanks.

hitp ://focus.ti.com}docs/prod/gro&ﬁctfolder.jhtml?genericPartNumbér=MSP430F449&pf

section=samples
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